M110 Fal7

Worksheet 21 KEY - Polar Coordinates (10.6)
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5. ?g) 16. <\/ﬁ 5;) ar. <10 arctan< )) 48, (5, arctan (2))
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49. | V65, ™ — arctan <8)> 50. (20, — arctan(3))
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51, <13, 7 + arctan (152)) 52, <?1) 7 + arctan (2))
(

53. | 25,27 — arctan (;4)) 54. <15, 2w — arctan <i>>

55. \f, g) 56. (V13,7 — arctan(2))

57. r = 6sec(0) 58. r = —3sec(d) 59. r = Tesce(0) 60. =0

61. 6 =21 62. 6=7% 63. 0 = arctan(2) 64. r =5

65. r = /117 66.r:m 67.95:W133m(9) 68. r = =) tan(d)

69. r = 4csc(f) cot(0) 70. r = 2sin(0) 71. r = 4cos(0) 72. r = cos(f)
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r = 7sin(0) 74. r = —4cos()
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r = 6sin(0) 76. r = sin(0)
2?4+ y? =2 80. y =z
y=20

2?2 +y?=dxor (z—2)2+9y> =4

3\* 9
x2+y2:3y0rﬂc2+<y> = -

2 4
=17
r=—2
2 =2y
(2 +y2)2 = 2xy





